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Q2: 
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Q3: Let ( )X number of integratedcircuits ICs is faulty= ( )~ 25,5,4X H→   .5 points 
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b. Y numberof vehicles isnotexceeding the posted speed limit=  
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Q5:  
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That the average fill is 1 liter.      .25 points 
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That wearing the noise reduction head gear increases worker productivity is 
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That different proportions of men and women in this student population would 

be willing to marry beneath their class.     .25 points 

Q7:  The correlation coefficient: 0.8764526758r =      .25 points 

The equation of least-squares regression line for predicting metabolic rate 

from body mass:           .25 points 
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